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1)Write an equation when given m = -5 and a point (-7, 5)
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9. a) For each line, writ juation in slope-point form.
1
:
o : _
Uy my1=m(X-xq)
4 |- il 4
1 F(—tC?_}l

y+2=;(x+4)

b) Write each CQUATIOI 0 part d i siope-ntereept orm,
hen determine the x- and y-intercepts of each graph.

y+2=;(x+4)

<
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y=3x+5 -3
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y= 3X-3

] y intercept
X intercept
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v) ¥

y-y1= r‘n(x-X1)

i

o =k

: y+2="3(x-1)
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\
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b) Write each equation in part a in slope-intercept form,
then determine the x- and y-intercepts of each graph.

y+2="5(x-1)

y+2=-3x+;
= -5 5 .
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a) B(—2,—-5)and C(1, 1)

m=Yys -V,
X2 = X1

m= 2

Slope: 2

y-y1=m (X - X3)

Point: (1,1)

y-1=2(x-1)

Point slope form

y=2x-2+1

Slope Intercept

y=2x-1

¢) U(=3,—-7)and V(2,8)

Slope: 3
y-y1=m (X - X2)

y-8=3(x-2)

Point: (2,8)

/
Point slope form

y=3x-6+8

Slope Intercept
form

y=3x+2

11. Write an equation for the line that passes through each pair of points.
Write each equation in slope-point form and in slope-intercept form.

Y+ "

b) Q(—4,7) and R(5, —2)

m=y, -V,
X2 = X1

m=-2-7
5+4

O

m= -1

Slope: -1 Point: (5,-2)
y-y1=m (X - X3)

V5= A%+ %)

y=-1x-2+5

Point slope form

Slope Intercept

y=-x+3

d) H(—7, —1) and J(—5, —5)

m=ys -y,
X2 = X1

m= -5+ 1
-5+ 7

3
i
(ST

m= -2

Slope: -2  Point: (-5,-5)
y-y1=m (X - X2)

3(xtd

Point slope fc

y+5 = -2 (x +5)

y=-2x-10-5

y=-2x-15

Slope Interct
form
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14. Match each graph with its equation. Justify your choice.

a) T e=—2t—2) S (1)
yF+2=2x=1 = (\,-2)
L=2=2x+1) » -1L2)
y+1=-2(x—2

¥ = fx)

Q

R = \m‘-.._‘_‘;l!-

X
7
1
b) y — y— 1=3(x—-2)
5 L k& gfix) 1
1 y+2=1[x—|-1]
-l X
2 |0 y | 4 y—1=3x-2)
y= =%(x—13
2
o NN 1 y—l1=3x-2)
3
E‘y:hm }’—lzi(x—ﬂ)
mX 2
7 |0 B }f—lz—g[x—E}

y=2=—30k-1

6.5 Slope-Point Form of the Equation for a Linear Function
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4 .
j foint.
20. a) Write an equation for the line that passes fhrough D(—5, —3) 111(1 is: @
4

. ) 4
i) parallel to the line y= —7Zx + 1 ii) perpendicular to the line y = ——x + 1

3
Point: (-5,-3) m=-4
3 Point:(-5,-3) m=3
4

y-yi1=m (X = X1) y-y1=m (X - X1)

y-(-3) = - % (x - (-5)) y-(-3) =3 (x - (-5))
4
Point slope form Point slope form
y+3—-§(x+5) y+3=3(x+5)
4

b) Compare the equations in part a. How are they alike?
How are they different?

The both have the same point but opposite reciprocal slopes

y+9=-4(x+5) 4y +12= 3 (x + 5)
3y =-4(x+5)-9 dy = 3 (x+35)-12
3y =-4x-20-9 4y = 3x+15-12
3y =-4x-29 y = 3x+3

slope intercept form slope intercept form

y =-4x-29 y = 3x+3

3 3 4 4
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Point - Slope Form

You can also find the equation of a line if you are given a point and
the slope of the line. In order to do this you use the formula:

You need a
slope -Point & a Slope

}
y e\ = m (v v
J | N \" [ A )

)
x1 1)

The x and y values from the given point

This equation can be rearranged
to y=mx+Db
(slope intercept)
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Example 1:
Find the equation of a line that passes through the points (-4,3) and a has a slope
perpendicular to y= 2x-7

U
M= . c,\'l‘.‘\n
(M= ~j| 1 = opposide & W
1= = redprocuﬂae
Write what you know:ﬂ\ . Potat (_\.\\ ’S)
-

What do we need:
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Example 2:
Find the equation of a line that passes through the points (0,5) and (-2,1)
Ske' Find SloP<
Write what you know: M= Ya-Y1
Point A Point B Aa =X

0,5) -2,1) .
ay Ky, (1) =6

Q)— Q)

What do we need: A Qo.é) — -y

Mz Yotnd | =3 See next
V-V,=m(X-x)l_M= 9 page "if you
",1 \ V= use other
i \ Y point)
have /_{? have
W-5=<2 (x-())l
Y- o= AX -0
\ﬂ “S = A ¥S
PRI X
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What if you use the other point????

Example 2:
Find the equation of a line that passes through the points (0,5) and (-2,1)

Write what you know:

Fill in what you know:

0.5) m= ?

y-y,=m(X-x,)

y=2x+5
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We need slope:

m=22_N
m= _(1-95)

((-2) - 0)

m= (-4)
2)

m= 2

Fill in what you know:
(-2,1) m= 2

y-yi=m(x-x,)
Zéié’»
)
y-1=2x+4

y-1,1=2x+4 +1

y-1=

y=2x+5

December 07, 2017
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Example 3:
Find the equation of a line that passes through the points (8,-3) and (6,1), and
has a mtercept of (0,-7) 5 -\ —

b= M=Ys -y

%Q'X—‘
_ mxth I*{

S
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3
When looking for the x-intercept
In an equation,
let
y equal zero.

When looking for the y-intercept
n an equation,
let
x equal zero.
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CHECK YOUR UNDERSTANDING

4. Write an equation for the line that passes through S(2, —3)and is:
a) parallel to the liney=3x+ 5

b) perpendicular to the line y = 3x + 5

6.5 Slope-Point Form of the Equation for a Linear Function
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Worksheet

G %?Je/;‘:“’d Point Slope Form - ™ *x? b

Please put final answer in Slope-Intercept Form

@‘ ind the equation of a line that passes through the points (-1,8) and has a
slope of 2.

ind the equation of a line that passes through the points (6,-3) and has a
slope of m=4.

*3) Find the equation of the straight line that has slope m = 34 and passes
through the point (-1, —6).

ind the equation of a line that passes through (-1,1) and has the
same slope as vy =-3x+ 4.

3) Find the equation of a line that passes through (-7,3) and has the
same slope as y=2x + 1.

@Find the equation of a line that passes through the points (3,-2) and (-4,1)

7)

8) Find the equation of a line that has the same x-intercept as this equation
2x +6 = 3y, and also passes through the point (4,35).




Attachments

Q  Point slope form.docx



Worksheet 

Point Slope Form







1) Find the equation of a line that passes through the points (-1,8) and has a slope of 2.  





2) Find the equation of a line that passes through the points (6,-3) and has a slope of m=4.  





3) Find the equation of the straight line that has slope m = ¾ and passes through the point (–1, –6).





4) Find the equation of a line that passes through (-1,1) and has the same slope as y = -3x + 4.





5) Find the equation of a line that passes through (-7,3) and has the same slope as y = 2x + 1.





6) Find the equation of a line that passes through the points (3,-2) and (-4,1)





7) Find the equation of a line that passes through the points (3,-2) and (-4,1)





8) Find the equation of a line that has the same x-intercept as this equation   2x +6 = 3y, and also passes through the point (4,5).
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